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2000 = =0l & 2 BHa A

SN CUMERZS
M2 S2UCAHE HMHE FLHESHLBT/2Y)

ool CIHE HEXS o 2BYET (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

CIYHEXZH 822,486 0 822,486

SZYUCAUME MHE HASH 2oL 20Z/202) 503,930 0 503,930

CIEME NAXH Y 2ZAEF 503,930 0 503,930

CIMHE HHEQI B=2e| 269,930 0 269,930

201 B2 IH| 17,000 0 17,000

01 AR 22|l 17,000 0 17,000
OCIRHENZRES 29 17,000

202 OiHl 2,930 0 2,930

01 Z2UWdH| 2,930 0 2,930
OLIYME HMAHECI S=22| AT A 2,930

207 HAFRINEHI 250,000 0 250,000

01 S| 200,000 0 200,000
OCIYMESEAHE 294 200,000

02 &AL 50,000 0 50,000
OJIEd 4 D/B 2= 50,000

CIHHE NS E2ct AZAME WL 82,000 0 82,000

202 O44| 2,000 0 2,000

01 =2UWdHI 2,000 0 2,000
OCIYHE X3AS &Sst 2AAE Y 2,000

307 QI2tolA 80,000 0 80,000

02 QI2HEAAMNEX 80,000 0 80,000
O L A2 AEC| L ME 80,000

=224 0IHE =283 &N 152,000 0 152,000

202 O] 2,000 0 2,000

01 Z2UWdy| 2,000 0 2,000
O2=¢Y 0tHAHE =28 ®H 2,000

307 QIZtolA 150,000 0 150,000

02 0I2tZAE X 50,000 0 50,000
OLIMME =224 H& 50,000

04 OIZ2tSHAIE X 100,000 0 100,000
ONAHCIHME XAMEN AFX L DI=UE 100,000

HHMSHAH| (CIUMEZZR)(IIEHIIE 318,556 0 318,556




fAM: OENEZZH
Y HEHAH (CIAMEZZE)(IIEH/IIE
Crol: ol oty) CLE-E
A BB O(B) - NEAY - BAS Of o e Hl R =2
ol 2AH| 305,486 0 305,486
S22 olAdl K& 305,486 0 305,486
101 el | 277,586 0 277,586
01 Jl== 180, 149 0 180, 149
== 166,291
OgeHa 166,291
-4= 3,235,600 x1H =12& 38,828
-5 2,919,300 x 1 123 35,032
-6= 2,290,800 2H = 12& 54,980
= 1,907, 100& x 1 * 12 22,886
-8= 1,213,700 1Z =12 14,565
ozF32+¢ 166,291,000 *1/12 13,858
02 =g 29,169 0 29,169
Oz 5,040
O At 40,0003 x6H x12& 2,880
ORLI= 20,0003 9% x12& 2,160
oftHdEdIBExrY 624
O=std 52,000%3H x43] 624
OFSEmtel =) P = 6,960
O25E 0] & 130,000& «2H = 12& 3,120
0204~254 0] B¢ 110,000 1H x 122 1,320
O154-~20= 0] 8¢ 80,000& x2H x12& 1,920
O54~104 0] 2t 50,0003 x1H«12& 600
OfE e e = 39,996,000 *1H x4 8% 1,920
O=E==gR+Y 1,440
Oll=ge+4g 30,000 x2H »12& 720
OJls=gR=gitet=a 30,0003 x2EH «12& 720
OAZI2A2RY 7,3253x6H x25A| 2Hx 128 13,185
03 ZFAHZ A 9,360
OFMZAH| 130,000& 6 H *12& 9,360
04 WSS x| 9,480




fAM: OENEZZH
Y HEHAH (CIAMEZZE)(IIEH/IIE
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O©4=2~5=2 140,000 »2H x 122 3,360
o6=~7= 130,000 *3H *12& 4,680
©8= 120,000 *1H x12& 1,440
05 ZEFIHI 16,630 0 16,630
OZEFIHl 166,291,000 *1/12%120% 16,630
06 JFAHIXIAHI 27,716 0 27,716
OQIJtAH XA HI 166,291,000& *1/12+200% 27,716
07 HII2 4| 5,082 0 5,082
O ItE2 &I 166,291,000 *1/12%1/30* 11 5,082
203 YURE=ZY| 6,240 0 6,240
01 JI22IgRFL8Y| 3,000 0 3,000
OFES; 3,000
02 HINFRFEY 240 0 240
O© 100 NtX 40,0003 x64H 240
04 BEMSIIRFLEY 3,000 0 3,000
©15210l ot 250,000& 128 3,000
204 H gAY 21,660 0 21,660
01 H¥SHSHAH| 4,200 0 4,200
OF=F; 350,000 1H x12& 4,200
02 A2l 14,460 0 14,460
042 400,000& 1Z«12& 4,800
o532 250,000& 1H 123 3,000
Ob6= 155,000 »2H x 12& 3,720
O7= 140,000& 1H x 123 1,680
082 105,000 *1H x12& 1,260
03 SEYRE =4 3,000 0 3,000
O &=l 50,0003 x5 = 12& 3,000
Jl22Z 4l 13,070 0 13,070
EMEY I3l 13,070 0 13,070
201 Lt 5,670 0 5,670
01 At 2eld] 5,670 0 5,670




FA OBHNE2ZH
HH: HH2AZH(CIAMEZZH)(OIEH/IIE
=Pl =3l (298
- _ _ HEE
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
ORANM2E AtR2el 5,670
202 O 2,400 0 2,400
01 =LHAHI 2,400 0 2,400
ORA2E =UHHLI 2,400
405 XtobESHI 5,000 0 5,000
01 X SSFHSHI 5,000 0 5,000

O= A1 (1CH) 5,000




